SUPER MAXI 350

RoHS

Technical data

Cooling 41743
Duty cycle 60% & #;%60%

C € eveooriz @

Gas Cooled 5%
400Amp CO, ,300Amp MIX

oo 22

21

Wire Size R4E&R&

®0.8-1.6mm
20

19 18 17 15
s - /.

L
cal=—— . - W LA AN
oy o
R T

YR
Description

1 1CS0067 MC0012 Gas Nozzle ® 18 ;WBiHE ® 18

2 ICU0009-12 MD0004-12 Contact tip® 1.2, 5Bl ©1.2

8 ICF0008 ME0003 Gas diffuser; % it #%

4 ICK0637 MQ0182 Insulator for Torch head;4 %3k

5 1CZ0792 MF0247 Torch head ;4 #i

6 ITY0073 AU0028 Back fitting coaxial cable ; B 4 % 3k

7 1CG0027 MT0072 Adjusting Block Kit Clamp;7E i

8 ICV0855-01 Handle; F 1%

8.1 1HJ0670 Hanger for handle ® 18;MAX| FiiFH##4 ® 18

9 IHQ0070 BX0020 Trigger; 1246 i 7 %

10 IFT0874 Screw 3.0x10;42% 3.0x10

11 IHJO777 BW0222 Joint for MIG handle;MIGF #5 F £k &k

12 IFT0876-01 Spring for cable support/Blue and white zinc plating; B 4% 3 14 F 58 /4% I 5 5
13 ICN0791 MH0246 Coaxial cable 3m;B 4540 3m

14 IFT0829 Spring for cable support/Blue and white zinc plating;F 4 3 # F 5 /4% 15 B $%
15 1HJ0827 Back box with closing ring;/& 18 &/& i % ¥

16 IFT0063 EA0018 Screw M4x6;42 4 M4x6

17 IHJ0070 Adaptor nut;( 24§ K12 8

18 ITB0038 AR0083 Central adaptor TW/Euro M12x1/Spring pins; 1 # ## sk TW/Euro M12x1/3% 4 &
19 1ZT0072 FA0027 Liner nut M11x1; X £ EHZ 1B E M11x1

20 11C0068-06 Steel liner 3.4m 1.2-1.6mm;% £ & 3.4m 1.2-1.6mm

21 1CG6007 Spanner forpantorch: BX it A AIRF

22 1CG6000 Spanner for MIG;MIG (&4t 1 F

Complete Torch

ICT1815-36 MAG6365 MIG MAXI 350 torch 3m with spring pins;/&4 MAXI 350/3m/3# 4§+
ICT1811-36 MA6366 MIG MAXI 350 torch 4m with spring pins;/&4t MAXI 350/4m/34 14
ICT1812-36 MA3667 MIG MAXI 350 torch 5m with spring pins;/&4t MAXI 350/5m/34 14



